111 AR EIR 556

110 4

01 5 RIH 1 o lgmiRER | W A | X Ol | % &

IR EREH 255922 58041 197881
6 5 [HiRKAE |[EHIRE p2-1 120 197761
6 5 |HIRKE |#HEH pP2-2 20 197741
6 5 |[HAGAE |RRLE P2-3 54 197687
6 6 [HAFAE |All passiE P3-1 200 197487
5 24 WL SN P3-2 50 197437

e 255922 58485 197437

=n




Ew\%mﬁ~§§%&i’§ e L1111 1]
i +gRE % A B
- — % (malwpe o] ® &
2 =D i T ILE
7, X *&'_/\ . >
AT | 6 B 5 HEEIRR L
8 @)
I e \
=E = 20 %EE =£| 31,4 %
setEmat —w— TEHE 1% —= W&z ;5'&/%-‘; <

RHRE— BRI 4am [2]0],

HZA:

it
| 3¢ =0

# BOR(E R

6 H 5 HiZElVgHE-2

=20 2 [;1‘\
T i i\ e R ] 1

’ SPGB mmmﬂﬂ -

BZA: H

i R
== [wx za
[ (4a) [ i | by | hmEAE

6 A 5 HImi4E-3

vl

S

H



6 H 6 H All pass -1

pERE) F H B
%ﬁ%%ﬁ“%?&ﬂﬂ% m—ﬁ%l;ﬁ;rfjg 77f6}/

5H 24 H B #h % E5-2

| 98-04-45-01 g BARELEIARENE
I 11 ‘.#- Uj}] iE]

iy th # | Ae/EE - B
E 3 AN i A &5 o %5
k3 Igi%](?ﬁlﬁ)%ﬁ('kﬁﬁﬂﬁf%uaf_ 5
kB A SABRAR . 7 024100-6 =
P2 160845-2 B
15
=3
r 0
A
3
B
1% 1 &
i 1796 111/05/24 13:28:55 00001666 024100-6 1A4547670
o84
60,000 4 (304%) 109.10 207 X 80mm (50g/m? Ik 8% #K) #& 4 4 k5 5 (1. 4) Ad




